Quiz 3
ID#: Name:
Figure 1 & 9 77/ 4 DD P — 1C. (% BGEIH5 3 8 (A, B, C) . 20— A ok

ETDRLD 6 MOMBEV T o REVIHCHEN TV 2, MiOBEIX 1 HIc>E 1/, Mok
W XD/ S ML #E %\ &%, (Consider the Hanoi’s Tower with 6 disks as in Figure 1.)

1. 5 OO N 7 4 D% S LD S EOBRAT~d 31 BITEREITE 2 L E > T2 AL
Wb, TONZ 6 TR TOMMEZ 63 MOBET CICBT 2 EBTE2HEZHNL TLLS
V3, (Explain that all 6 disks can be moved to C' with 63 moves to a person who can move 5
disks from one place to the other without difficulty in 31 moves.)

2. Figures 2, 3 13 A IZH -7 6 HDOM#EZ B £721% C ZmAFHUTBH I LTV 3@+FTH
%, ZNZEi, ECICBEIT @b LE, ROBEI L, RADTFETIEH &MBIOBE)DINELD
%z % Z X, (We are in the process of moving 6 disks from A to B or C with minimal number
of steps. Answer the following in each case.) W72 b DIcHh%E L, THRICEKZHFZANL,
(Encircle the appropriate choices and fill the number in blank.)

(a) Figure 2. A:6, B:5,4,3, C:2,1
B#ESE (Move to) : B C XD H) (Next move) : 1 — A, 1 — B, or 3 — A.

BR% (How many moves left?) : 5]
(b) Figure 3. A:6,1, B:4,3, C:5,2
B#)e (Move to) : B C  RDEH) (Next move) : 1 — B, 1 — C, or 2 — B.

BEIN% (How many moves left?) : [m]
Figure 1 Figure 2 Figure 3

A B C A B C A B C

Message ] (BICH EH ) EDI LT, ETHELo7 (BHLTWS) 28, Bl L,
BoTwsb Z &, (Anything that made you rejoice, sad or angry, or you are thankful of recently?)
(THP #g#A 7], 1ZBHGEDEH, If you don’t want your message to be posted, write “Do Not Post.”)




